EARAROBEEIERT — 2 N— IBISH —F

20165F8A13H (+) 10m£E1H

IR O — 24 Yo% 2% ‘[fﬂi] W ‘[?éiﬁ%lasﬁ] — | # (&) 1300n &
[AE£] 1% :290,000” ~ 2%&:67,000”  337%&:26,000H  43%&:1500 M 53 :9,000 8
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o . /&4 :27. -1-1- . — THERE (£8)
1. Ny E—=AXNJb 4 2 0 1(2_7)9 1-1-1-1 | 40.0 6 ;1_265) B =
LTI FUS = BTSLTTFY ARl BER
ST HFYEA : 76— = THERE (&R
o1 1|81 LtTH7— i 2 B 1.(248).7 7-7-6-6 | 39.6 2 ?g; St (#£%8)
RihIN=Z— BZHATLAN— J—HrIr—L
SEN o e : —4-3- — AHR—x (£8)
1 - IRESZ L% o2 g 1(/5%7 3-4-3-3 | 40.5 1 <4+022) ﬁm%%( =
R:8=Z/F¥LLy b B:HILRY Bl bie]
. FEHAEER . ___ _ HExE (&8)
4055 XEY =4 =2 4 2 2 1(.32/%9 2-2-2-2 | 40.9 4 (i}; T’Ilﬁgﬁﬁ
R4 o)2a—H— B:F+OILTIKR— HA BEY
N = > ZHIEE 129. ~5-5- . — ettt (1£%)
5 )| TITVE-T 2 o 1(32/94)0 6-5-5-5 | 40.2 5 (4_269) At =1
L:hFEXY BAS—FL—X P ¢
. e : -3-4- = Tl (EE
6l7l7 HIL4F>F /2 4 2 e 1.(25%.9 4-3-4-4 | 41.7 7 (3_831) Eﬁ\g%( )
RihoN=Z— B:AH KT IR
7 3 SHLLILTLL 4 2 gﬁﬁﬁﬁz 1:(381>.5 5-6-7-7 | 42.3| — 3 416 ii%ﬂ (#£8)
QT IEAK BARANRT 4 LH ) 1 5hs99-n
® I —F—EBIERL
13=7r= 4,5,6,7,3,2,1
A== 4,5,7,6,2,3,1
Jol=5r= 4,5,6,7,2,1,3
40—+ — 4,5,6,7,2,1,3
[ N3
H OB 4 1,260 714K 1-4 480M B = 1-4 1,660M 3EHE 1-4-6 940M
8 B 4 520M 4-6 330M B H 4-1 4,820M K31 4-1-6 9,670H
1 240M 1-6 150M

ABICOVWTRDTEEERROODE. TR LIV,




